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1076 NADI SANGAM SCHOOL

ENGLISH

Weekly Home Study Package # 12 Solutions YEAR: 2

B. Comprehension: Multiple Choice

Circle the letter of the correct Answer:

> > > W

1.
2.
3.
4.

5. B

C. Tenses: Write the correct tense of the words in the table below:

Past Tense Present Tense Future Tense
walked walk will - walk
boasted boast will boast
decided decide will  decide
finished finish will  finish
woke wake will  wake
reached reach will  reach
played play will  _play

D. Opposites: Write opposites of the following words

1. slower
. wake

. over
.enemy
. finishing
. bad

N O O MWD

. Wwon
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1076 Nadi Sangam School

Weekly Home Study Package#12 Solution

Year 2

General Subjects
A. Fill in the Blanks

1. place
2. Fiji

3. fidy
4. germs
5. hands
6. weather
7. friendly
8. ‘dhoti’
9. pizza
10.drop

B. Multiple Choice

AR
> > W

stvle pollen

petal sepal
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1076 Nadi Sangam School

Year 2
Hindi

Weekly Home Study Package #12 — Solutions

3T = feu ¢ aral & Sare ol |
9. 99
R. Rt 9

3. 9gP
¥, 3Rded H

W, TSI

3] Ws& AT [Answers can vary in this section]
. R

R. TdT

3. FRm

¥. Qe

4. Haaq
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1076 NADI SANGAM SCHOOL

Weekly Home Study Package #12 Solution

School: Nadi Sangam School Year: 2 SOLUTIONS
Subject: Mathematics

Strand Numbers

Sub Strand Operations

Content Learning Outcome

To show multiplication is repeated addition

1. Fill in the blanks.

a) | 2+2+2+2+2+2=12 | 6twos =12 | 6 X2 =12

b) | A+4+4+4+4 =20 | 5fours =20 | 5 4 =20
c) | 3+3+3+3=12 | 4threes =12 | 4 x 3 = 12
d) | 10+ 10+ 10=30 | 3tens = 30 | 3 x10 = 30
e) | 7+7+7+7=28 | 4sevens = 28 | 4 7 =28

2. Write the number in the box.

a) 3x 4 = 12 4+ 4 + 4 = 12
b) 2x 6 = 12 6+ 6 = 12
c) 1 x 10 = 10 10 = 10
d) 4x5 = 20 5+5+5+ 5= 20
e) 5x8 = 40 8+8+8+8+ 8= 40
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